
1. 344,556 + 157,095 = 

 

2. List the factors of 50.    
 
 
 
 
 
Is this number prime or 
composite? 
 

3. Solve the equation. 
 
 
 
 
 
*Bonus: Convert the 
improper fraction to a 
mixed number. 
 
 

4.  
 
 

5.  6.  
If  
 
 
 
then 

 
*Hint: Change the 
tenths to hundredths. 
 

7. 953,298 -248,531 = 
 
 
 

8. Gordon had a 
watermelon. He shared    
of it with his sister and     
with his friend.  How much 
of the watermelon was 
left for Gordon? *Bonus: 
Reduce the fraction. 
 

9.  10. Complete the table. 

 
11. Write the equation. 
Jonathan saw twice as 
many road signs on his 
trip as stoplights. 
Jonathan saw 422 road 
signs.  How many 
stoplights did Jonathan 
see?  

 

12. Each summer, 
Joshua mows the 
neighbor’s lawn and 
earns $20 each week.  
After 7 weeks, how 
much money does 
Joshua earn? 

13. Write the equation.  
Ms. Jacobs needs to 
hand out    of a pack of 
erasers to each student 
in a group of 6 students. 
How much is Ms. Jacobs 
passing out altogether? 
*Bonus: Change the 
improper fraction into a 
mixed number. 

14. Add the fractions. 
 

16   + 4      =  
 
 
 
*Bonus: Reduce the 
fraction. 

15. The perimeter of a 
rectangle is 40 feet.  
If the length of 
rectangle is 12 feet, 
what is the width of 
the rectangle?  *Use 
the diagram to help. 
 

 

 

16. Color the shapes 
that have right angles. 
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